




����������	�
�������
������������������������

���
	
������������ � �����������

�
	���� ������ ����� �� !�	��	�
�

��������	�
��
����� � �����
������

����	��������� 

� � � �������
� �� ��	
���� �� ���
�������������������������
� �� ������� �� ����������������
������
� �� ������� � � �����������!�������
!���!��
� �� ������� �� �������"#���������
� 
� �
� 		� �� ��������
�$���
������	����� �
�  � ��	�
�� �� ����"��%������#����#�
� 	� ����� � �� �$�������"��"����	�&��������&�
� �� ��	�

� �� ���
��"��"���������� �
�������
� �� ������� �� ������%���������
� ��� �'�	��� �� ���"�$�#�������
� ��� �'���
� �� ����������������
��
������(��
� ��� ����	 � �� ����������������
������������
� ��� ������� �� ������%���������$���
� ��� ��  ��� �� ���
������������
���
� �
� ���	��� 
� ����������������
�����������
� � � �	����� �� ������������������
� �	� �'��	
� �� ��#���������������������"#��
� ��� �'��
�� �� ������������ ����
������!������
� ��� ������� �� ����������
!� ���������!���
�
� ��� ������� �� ��������$������
!� �
� ��� ������� �� �������%��$���"��%�����	���
� ��� ���
��� �� �����������!��� ������!���
�
� ��� �� 
� � �� ��������$�������
� ��� ���� �� �� ���"�����������������"#��������
� �
� ��

	�� �� �������������#���
�������������
� � � ������� �� �����%��!� &��$���#�������
� �	� � 	���� ��� �������������"(�������
�
� ��� ��
		�� �� ��������������
����������("���
� ��� �	�� ����
� �� �"������
��������$����������
� ��� �	��� � �� ��������$���������
� ��� ���
���� �� )"����"$�������
������� 
�#��$�
� ��� �
	���� �� ����������������
�����������
� ��� ������� �� ����������������
�����������
� ��� ��
 
�� �� )"�������
����������������
�
� �
� ������� �� ���#����#���������#�����
� � � ���
���� �� �$���������$�����$���������$���
� �	� ���
���� �� �$���������$�����"���������$���
� ��� ������� �� �����������������
� �������(��
� ��� ���
��� �� ����������#�������
� ��� ����
�� �� ��������#��������
� ��� �����
�� �� �$��������#������������"�����
� ��� �����
�� �� �$��������#������������$�����
� ��� ������� �� �����������������
������
� ��� ������� �� ���#���#��������������
� �
� �������� �� ������
�������������)#����
��
� � � ������� �� ������$�#�#$��������������
� �	� �� ���� �� �$$�%�)"�
�����������$���$"#�
� ��� ������� �� ���������$����!������
�"���
� ��� �� 	��� �� �$�����$�%����������$���$"#�
� 
�� ��	
��� �� ���������$���*������
�"�������
� 
�� ������� �� �������������"(�� �����
� 
�� ���� �� �� ���#��#������
����$�#�#$�������
� 
�� ��� ��� �� ��"�����#����$���
� 
�� �������� �� �$��������#�����������$�����
� 

� �������� �� �$��������#�����������"�����
� 
 � ���  
� �� ���#����#������"�����#�����
� 
	� ����
�� �� ���)�#����#����)"���"��
� 
�� ��
	� � �� )��)�%�����������$���
� 
�� �����
� �� ���������)��)������"����
�  �� ���
 ��� �� ��������$����$����$��� 
�
�  �� ���
��� �� ��"������#��+$�,�$���$������
�  �� ������� �� ������
���)����������#�
�  �� ���
��� �� �$$�����
����
�  �� ���		�� �� �����������������
����
�



����������	�
�������
������������������������

���
	
������������ � �����������

�
	���� ������ ����� �� !�	��	�
�

��������	�
��
����� � ������������

����	��������� 

� ��� ������� 	� 
���
�������
�����������
� ��� ������� 	� �������������������
� ��� ������� �� �� ���

�!�� �������"	��	���#��
� ��� ������� �� �� ���

�����������������
��
� ��� ���	�	� �� ������!����$��$������"�	����
� ��� ��	������	� �� � 
!��� ���% ��# ����  �� ����
� ��� ������� �� ���
� ��%�&����������"	'�
� ��� �
����� �� ���!���
�����!�����
����� ���
� ��� �
�		�� �� �%��� �
�� ��
������������
� �	� �
����� �� ���
� �������"���!��������'�
&�
� ��� �&����� �� ��'��
����%������
�#�
� ��� ����	�� �� ���
� �������"����
��
� ��� �&����� �� �����������!�������	��� ���
��
� ��� ������� �� ��!�
������% �������� �
� ��� ������� �� ��#%��������� ���������
� ��� ������� �� 
����%���%�&������������
� ��� ��	���� �� �� ���

���������������
� ��� ��	���� �� �� ���

���������������
� ��� �
��	�� �� �%(� ����� 
��% ��
�������&��
� �	� ����������� �� �� �)������ )�%���%����%
�����
� ��� ������� �� ������
����
��� ����
�����
��
� ��� �	������ �� ������
%���#�
!��	��
� ��� �
�	���� �� �����
%��)���������%
�� �
� ��� ������� �� ��!�
������������ �
�����
���!�*�������
���+�
� � ������� �� ��!�
������������ ���!��*�������
���+�
� ��� �
����� �� ��������������#���%�����(
�*�������
���+�
� � �
����� �� ���������������#���%���%�(
�*�������
���+�
� ��� �
����#� �� �( ��������&��(���%
�����*�������
���+�
� � �
������ �� �( )����&��(���%
����� 
��% �*�������
���+�
� ��� �
����� �� �����#�,)# ��
�(���%
�*�������
����-��������
���+�
� ��� �&����� �� ���,����
�����&�����*�������
���+�
� � ���	��� �� ���,����
������&��*�������
���+�
� ��� ������� �� ������
�� ���
� �	� �����	� 	� �� ���

����������������"����
�
� ��� ������� �� ���
� ��%�&��
��������
�
� � �
� � � �������
� �	� �
������ �� 
%��������%!����������!������
�
� ��� �
��	�� �� ���,)� %���%(� ����
��(��(��
� ��� �
������ �� ����������) %�
!����'��%
��
� ��� �
����� �� � %���������������� %�
!�
� ��� �
������ �� ���,��������������!���#���&�
� ��� �
����� �� ����� )������
� ���� �
������ �� ���!��
���������
&���� �������
� ���� �
����� 	� �
�� �)��
���� ��
��% ���
&��
� ���� �
�	��� 	�  �##� ��%�
�)�������!����������
� ���� ������� �� #���%
�����
� �������
� ��	� ������� �� ��(� )�����
� �������
� ���� ������� �� �� �����
��$��������"��
� ���� ����	�� �� �� �
���% ��%
)�����
� �������
� ���� ������� �� # ��&��)�����
�
� ���� ����	�� 	� ��(%����
)�����
� �������
� ���� ������� �� ����)��%�!�!%�
�
�
!���
� ���� ������� �� �� ���

�������������������
� ���� ��	�������� �� �� �)�$������ ���%����� �� ����
� ���� �
����� �� 
������
����������
,�%�&�
� ���� ��	�������� �� �� �����,��%���%�#�����%��
� ��	� �
��	�� �� �����#�,)�#���� ,��� ���
�
� � � � � �



3 4

5

6

7

3

4

9
10

16

12

17

3
4
19

20

27

28
25

26

22

23

24

23

3

4
3

4

30

3
4

3
4

8

36

31

34

33

35

35

37

37

11

21

1

13

14

38

2

32

15

18

29

39

Page 1 of 2 
Revision:  J-1508 B
Date:  1/31/2012 

Exploded View:  EV CNTRL PANEL 410 PORT 6.5KW
Drawing No.:  0J2388

GROUP EV



ITEM PART QTY. DESCRIPTION

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39

042568
038057
0E6480
043180
0E5333
0J7549
0H8118
049811
022097
049813
040213C
0H3349
0G9023C
0C7340
036900
0H8447
084028
0H0265C
0G6017
0G5644E
0H0265E
0G8758
0D4968
068868
0D9784
052777
0E3927
0H8037
0H9126
0E8388 
0H8388
0H6856
067682D
087968
0J3223
0H8214
0G9391
0G9392
0H8402

2
2
16
16
2
1
1
4
2
2
4
1
1
1
6
1
1
2
1
1
1
1
2
1
2
2
1
1
1
4
1
1
1
1
3
1
2
2
1

SCREW HHC M6-1.0 X 20 C8.8
GROMMET 7/8 X 1/16 X 3/4
NUT HEX LOCK M4-0.7 NY INS
WASHER FLAT M4
SCREW PHTT M5-0.8 X 8 ZINC 
TIE WRAP PUSH MNT QUICK REL
CONTROL BOX XP6.5-8KW PORTABLE
WASHER FLAT M6 
WASHER LOCK M6-1/4 
NUT HEX M6-1.0 G8 CLEAR ZINC
PCB SUPPORT SNAP-IN 3/4"
WIRE ADAPTER PLATE
CB 0030A 2P 240V C AA2 QT 
BOOT, CIRCUIT BREAKER
SCREW PPHM #6-32 X 1/4
ASSY PCB XP PORTABLE CTRL
TRANSFORMER IDLE CNT
CB 20A 1P 120V CUL/CSA JOEMEX
GFCI SENSING MODULE ASSEMBLY
CB 2P 30A W/SHUNT TRIP
CB 30A 1P 120V CUL/CSA JOEMEX 
OUTLET 30A 120/250V SPCGR 
OUTLET 20A 120V DPLX 6342BK
OUTLET 30A 120V RECEPT
NUT HEX LOCK M3-0.5 NY INS
WASHER FLAT M3
RELAY, DPDT NO 10A 120VAC COIL 
SWITCH SELECTOR 120/240V 30A 
ASSY 12VDC POWER JACK XP
NUT HEX FL WHIZ M6-1.0
ASSY COVER C-PNL XP6.5 
FUSE HOLDER 10A/250VAC R3-13 
FUSE SLOBLO 1.5A GLASS
SWITCH, ROCKER -/0  
BOOT/NUT,SWITCH COVER
HOUR METER W/ALERTS AC/DC
COVER,30A 120/240V 
COVER, 20A 120V GFCI/DUPLEX 
OVERLAY CONTROL PANEL XP6.5

Page 2 of 2 
Revision:  J-1508 B
Date:  1/31/2012 

Exploded View:  EV CNTRL PANEL 410 PORT 6.5KW
Drawing No.:  0J2388

GROUP EV


